(50) Symmetry in the Alphabet Name:

(26) We have 26 letters in our alphabet. Some have vertical line symmetry,
some have horizontal line symmetry and some have no lines of symmetry.
Using the table below fill in the correct answer. You should have 10 N’s, 4 B’s,
7 V’s and 5 H’s when you are done.

A|B|CID|E|F|G|H|IT |J|K|L|M

NIOIP|Q|IR|IS|T|U|VIW|X]|Y]|Z

N —-no symmetry V —vertical symmetry H —horizontal symmetry B - both

(7) A few letters (7) have point symmetry (think of it as 180-degree rotational
symmetry — flipping it over the origin; a horizontal and vertical flip). Mark up
the table below with Y if it has point symmetry and N if it does not.

A|B|C|D|IE|F|G|H|I |J|K|L|M

NIOIP|Q|R|IS|T|U|VIW|X]|Y|Z

(4) Four letters have both line and point symmetry. Name them in the blanks
below:

(1) What do all four of the letter above have in common from the first table?

(2) Name two letters that have more than just 180-degree rotational symmetry?

Bonus: Which letter in the tables is in a different type-font?



